2014 Kickoff Kit - Checklist

Container Part Name, Description, & Number Qty Phote
AndyMark Drive 14 Tooth, 8mm Key Gear
Base Kit

2 per TB Mini Kit * 2 TB Mini Kits

4 ﬁ
AM TB Mini Kit 1 :
PN: am-0034

AndyMark Drive 19 Tooth, 3/8" Hex Gear
] Base Kit 1 per TB Mini Kit * 2 TB Mini Kits R
2 AL
AM TB Mini Kit 1 oy
PN: am-0176
AndyMark Drive 45 tooth, 1/2" Hex Gear /.---u.-s.
Base Kit 1 per TB Mini Kit * 2 TB Mini Kits ) o~ ’\
AM TB Mini Kit 1 ".,"“M“‘,_c'
PN: am-0179
Photo: www.andymark.com
AndyMark Drive 50 Tooth, 3/8 Hex Gear
Base Kit 1 per TB Mini Kit * 2 TB Mini Kits , —
AM TB Mini Kit 1 g’
PN: am-0149 .
AndyMark Drive FR6ZZ Bearing

Base Kit 1 per TB Mini Kit * 2 TB Mini Kits

. &
AM TB Mini Kit 2

PN: am-0028

AndyMark Drive FR8ZZ - Hex Bearing
Base Kit 1 per TB Mini Kit * 2 TB Mini Kits

. ©
AM TB Mini Kit 2 u

PN: am-0279 ot e v com
AndyMark Drive R6ZZ bearing, 3/8" ID, shielded
Base Kit 2 per TB Mini Kit * 2 TB Mini Kits i
AM TB Mini Kit 2
PN: am-0516 R
Rev 1/2/2014

Page 1



2014 Kickoff Kit - Checklist
Container Part Name, Description, & Number Qty Photo

AndyMark Drive #10-32 x 5/8" SHCS w/ nylon thread lock patch

Base Kit

AM TB Mini Kit 3

4 per TB Mini Kit * 2 TB Mini Kits

PN: am-1120

Photo: www.andymark.biz

AndyMark Drive
Base Kit

AM TB Mini Kit 3

2 x 10mm key

2 x
2 per TB Mini Kit * 2 TB Mini Kits

PN: am-1121

S~

Photo: www andymark biz

AndyMark Drive
Base Kit

AM TB Mini Kit 3

5/16" Washer
4 per TB Mini Kit * 2 TB Mini Kits

PN: am-1009

©

AndyMark Drive
Base Kit

AM TB Mini Kit 3

8mm Ring
2 per TB Mini Kit * 2 TB Mini Kits

PN: am-0033

Photo:

Photo: www.andymark.biz

AndyMark Drive
Base Kit

AM TB Mini Kit 4

1/2" eClip Ring
1 per TB Mini Kit * 2 TB Mini Kits

PN: am-0206

%)

Photo:

AndyMark Drive
Base Kit

AM TB Mini Kit 4

#10-32 Nylock Nut
2 per TB Mini Kit * 2 TB Mini Kits

PN: am-1042

€2

Photo: www.andymark.biz

AndyMark Drive
Base Kit

AM TB Mini Kit 4

10-32 x .75 SHCS
4 per TB Mini Kit * 2 TB Mini Kits

PN: am-1047

Photo

Rev 1/2/2014

Page 2




Container

2014 Kickoff Kit - Checklist
Part Name, Description, & Number

AndyMark Drive

Grease pack

Base Kit 4 per TB Mini Kit * 2 TB Mini Kits 8
AM TB Mini Kit 4
PN: am-0908 N
| AndyMark Drive TB Mini Hex Output Shaft
: __ Base Kit 1 per TB Mini X 2 TB Mini Kits
] D e
AM Toughbox
Mini PN: am-2566
AndyMark Drive TB Mini Housing
Base Kit 1 per TB Mini Kit * 2 TB Mini Kits ) @;
AM Toughbox
Mini PN: am-0650 .
AndyMark Drive TB Small Hex Shaft
Base Kit 1 per TB Mini Kit * 2 TB Mini Kits 5
AM Toughbox
Mini PN: am-0152
AndyMark Drive 1614ZZ, Wheel bearings
Base Kit Double Shielded, ID: 0.375", OD: 1.125", Width:
AndyMark JaaD
Bearing Kit PN: am-0209 .
AndyMark Drive FR8ZZ Hex Bearing P
Base Kit Double Shielded, ID: 0.500" Hex, OD: 1.125", " {@
idth: 0.312"
AndyMark Walh v
Bearing Kit PN: am-0279
Photo: www.andymark.com
AndyMark Drive 1/4-20 x 0.75" Thread Rolling Screws
Base Kit
44
AndyMark
Chassis Kit 1 PN: am-1310
Rev 1/2/2014 Page 3




2014 Kickoff Kit - Checklist

Container Part Name, Description, & Number Qty Photo
Base Kit ey
4
AndyMark
Chassis Kit 2 PN: am-1054
AﬂdYMﬂr'k Dr'ive 3/8—16 X 4.25" HHS BOIT
Base Kit a_
4 | SSS
AndyMark
Chassis Kit 2 PN: am-1297
AndyMark Drive 0.280" Plastic Spacer
Base Kit
4 -
AndyMark o
Chassis Kit 3 PN: am-1306
AndyMark Drive 0.583" Hex Spacer
Base Kit s
2
AndyMark v
Chassis Kit 3 PN: am-1305
AndyMark Drive 0.850" Plastic Spacer
Base Kit 1
AndyMark b‘
Chassis Kit 3 PN: am-1307
AndyMark Drive 42 Tooth HTD Plastic Pulley Half
Base Kit
16
AndyMark Pulley
Kit PN: am-2234-half .
AndyMark Drive Self-tapping #10-24 x 1 1/4" Screw
Base Kit :
48

AndyMark Screw
Kit

PN: am-1266

Photo

Rev 1/2/2014

Page 4




2014 Kickoff Kit - Checklist

Container Part Name, Description, & Number Qty Photo
AndyMark Drive 4" HiGrip Wheel
Base Kit Static CoF = 1.07 6 .
Loose
PN: am-2256 el
. AﬂdYMﬂr'k Drive 500 Chur‘r‘o, 24.75"
i Base Kit
I:l 2 —————
Loose
PN: am-2595
AndyMark Drive 500 Churro, 3.375"
Base Kit ;
16 | =}
Loose
PN: am-2569
Photo: www.andymark.com
AndyMark Drive 500 EX Hub .7 >
Base Kit ' \
. | 1 ‘.
Loose N
PN: am-2568 L
AndyMark Drive AM14U Cross Brace
Base Kit
2 1 —
Loose
PN: am-2573 e
AndyMark Drive AM14U Inner Plate
Base Kit M
2
Loose
PN: am-2567 ot e v com
AndyMark Drive AMI14U Outer Plate
Base Kit I
2 #
Loose
PN: am-2572 R ‘
Rev 1/2/2014 Page 5




2014 Kickoff Kit - Checklist

Container Part Name, Description, & Number Qty Photo
AndyMark Drive HTD 15mm wide, 131 tooth belt
Base Kit >~ .
4
Loose

PN: am-2571

Photo: www.andymark.com

_ AndyMark Drive
i |Base Kit
]

Loose

HTD 15mm wide, 170 tooth belt

PN: am-2571

7 N

N

Photo: www.andymark.com

AndyMark Drive
Base Kit

Loose

User Guide

PN: N/A

W AndyMark
User Guide

1 B T Bt gt

Photo:

Rev 1/2/2014

Page 6




